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QUESTION 1

How many global namespaces are there in a 4-node ONTAP cluster that has a single SVM? (Choose the best answer.)
Al

B. 4

C.8

D.2

Correct Answer: A

Reference: https://docs.netapp.com/ontap-9/topic/com.netapp.doc.dot-cm-concepts/GUID-78701FC22910-41FA-
AEF4-9E6245030189.html

QUESTION 2

A customer uses Active 1Q Unified Manager to configure SnapMirror relationships. In this scenario, which statement is
true? (Choose the best answer.)

A. Active IQ Unified Manager and OnCommand WFA have licensing dependencies.

B. Active 1Q Unified Manager uses the OnCommand WFA API.

C. Automation works directly through Active IQ Unified Manager and later versions.

D. Active IQ Unified Manager and OnCommand WFA cannot be installed on or work with the same cluster.

Correct Answer: B

QUESTION 3

What are three types of licenses available for ONTAP? (Choose three.)
A. standard

B. evaluation

C. system

D. site

E. field

Correct Answer: ABD

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.onc-sm-help-930%
2FGUID-28C78952-A5CC-40BE-9F30-7057B4045CB6.html
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QUESTION 4

What are three firewall policies? (Choose three.)
A. cluster

B. node

C. data

D. mgmt

E. intercluster

Correct Answer: ACE

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
nmg%2FGUID09329781-2E57-49E5-B052-ECAD6FEBB41B.html

QUESTION 5

You are setting up replication between two clusters.

In this scenario, which two components are required to set up the cluster peering? (Choose two.)
A. DNS service on each cluster.

B. An intercluster LIF on only the epsilon node.

C. ICMP service between clusters.

D. An intercluster LIF on every node.

Correct Answer: CD

Reference: https://thinksystem.lenovofiles.com/storage/help/topic/ontap_cluster_peering_express_guide/
M_27021470-BC22-4640-923C-8BD12CE66360_.pdf
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